E 0

2 AT RE N ERIE

4

2005 + 4452 + 59x + 42
5x+ 6

18 + 36:2 +4x— 8
6x+ 4

45x3 — 25x2 + 25x — 45
5x—5

12x% + 26x + 14
2x+ 2

O — 522 + 5x

H #A:

32x3 + 72x% — 64x
&x

Ox2 — 33x+ 18
3x—2

30+ 32 + 2x
X

16x° — 7222 — 72x
&x

30— 22 — 12x+ 21
3x+7
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B Y &a®

2 AT RE N ERIE

4

20x° + 44x% + 59x + 42
5x+ 6
47 + dx+ 7

18 + 36:2 +4x— 8
6x+ 4
3% + 4x—2

45x3 — 25x2 + 25x — 45
5x—5
9% + 4x+ 9

12x% + 26x + 14
2x+ 2
6x+ 7

9> — 5¢ + 5x

%> — 5x+5

H #A:

32x° + 7227 — 64x

8x
4x* + 9x— 8

Ox2 — 33x+ 18
3x—2
3x—9

3% + 3% + 2x
X
3x2+3x+2

16x° — 72x% — 72x

8x
2% —9x—9

30— 22 — 12x+ 21
3x+7
¥ —3x+3
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